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StationarY onts @ 2

@ The curve C has equation
¥ =3+ -0 - 10,

whers % is 2 constant. The two siationary points on the graph of C are denoted by O and A
The x-coordinaie of O -1.

faf i %—’i and hence show that k= —3. 3]
{5 Find the x-coordmateof & [
{c} etermine the nature of sach of the stationary points 0 and R. ek
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@ A rectanguler shest of metal hes length §m and width 5m. Four squares, each of side xm,
where x < 25, have been cut awsy from the corners of the rectangular sheef, as showsz in the
diagram below. The rest of the metal sheet is néw bent along the dotied Enes to form an open
fank in the form of a cuboid
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{e) Show that the volume ¥m® of this tank is given by
V=4x*-26x" + 40 - ¥l
/&) Find the maximmm value of ¥, showing that the value you have found is 2 maximum
valne, I3
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@ The curve Chas equation
p=x>=6x +12x-9.

{z}  Show that C has only one st.ﬁianazy point. Fimd the coordinates of this point. 4
(b;  Verify that this stationary point is 2 point of inflection. [
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